1°) (2a+5)(a—
2°) (8b

53+%) ;

2(7x-2)
-11(x-5) ; xBy-x+1) ;
x+4)(Bx+2);

(5x-3)(7+4x) ;

(x-1)(6-3x) ; Ox+1)By+1-3x) ;

2y —3x + 1)(1-4x

7°) (5a—1)(a+2)
8°) (3x+5)(2x—3)
9°) (8x—1)(2-5x)

10°  (2y+1)(y-1)
119 (3y+2)(5y+7)
12°)  (9b-2)(8p~7)

2)+(a+9)(6a—7)
~7)(2b-2)-(3b+1)(-2b-7)

3°) (3t-8)(8t—1)— (-5t -3)(4r-5)

A =3a-4a+2a-5
B=ga2-3a+242+4a—-8+9a
C=x2-1+x-1+9x -21x2

D=3,2—-2b+7b2—b+3a+2ab—2+5a+3ab

Db le o 5 il s10a
e Lo o) 12 Gyl
13°)  (3y-6)x5y
14°)  (4z-5)(-z-1)
15°) —7x(8x—6)
16°) (—2u —11)(5u —4)
17°)  x(4x-13)

o e a5 il 13¢p pall)

Db Lo o 14 el

E=t+ 2t + 8 + 3t — 4— 6t
F=b -4a+12+9a -6 +c —-3d -4 + 8
G=-5+3b —-—a+ 7c —4a + 8& — 6b — ¢C

K=3X2—5xy+3x—4y+23—12x+4xy—1+x

5 il
X+..=X(14+3X) ; 5(.42)=15x+10 i Lo laiill 1< Skl
toh Lo dae 16 a3l
3x+6 ; 5-15x ; x2+3x
81x2+27x-30xy
x+1+(x+1)(3x+4)

((Jpanll 5 el (5l Jomly a7 50

G =301,495x97+301,495%3
[=9995x10005

:8¢madll

sl YT e Al S Lﬁ (a+b)-[c-(d+a)] il k-\.m;\

.d=-0,5 sc=5s5b=2 sa=2 .1
.d=-7 sc=2a5b=5 sa=-2 .2






